FE BT RATH A R AP IAs R0 8 %

eI b i B | F &9 (=5

O = 100
ELHET = 150
B ARm> L8 % 3,000
TN % 220
e AR 8 % 250
BT BerE (R i» 2,000
e S A
- B erEm 2 > 100
L ERER F (F ) & 300
= (R)VETER 3 > :,’Eoi?

ERDEEP T (R~ FFRE ) » 500
< EEAED T » 100
¢ g%—?} ;%’FT Fmp ;% > 500
PO lRmE £ T P FETE £ » 500
FEMA ET R0 » 8,000
SRER I e Al A > 12,000
PolmE A FLETRIRSL A > 200
1§ ATz ETY 3,800
Ak % 200
KA HRERE 3 5
X£/CT/MRIF L F (A gk &%) kA / 5k 200




REFFIRFRATA S RGR AL AR FAPFP 2
= LR BB | T & ==

e ET R % 3,000
E kY % 3,000
B A 1R A =% 6,500
§BRES B % 2,500
% SLFAT 3 % 3,000
CY - R ﬁ)ﬂﬁ;%{v = 4,000
T A RRER T = 3,000
A A G 0 og (= %) 5,000
Bz 2) 6,500
Ptk g (= 2 p3t) p 2,000
EF AW R = 9,000
BTN S = 35,000
PTNS 5 & "&F 4 ‘&4 & 7 1 ki o % =% 5,700
% T SR =% 3,500
B 24 SIRGIRAT =% 650
B atRas ot = 500
B3 AR = 2,000
OSIREM S AL A A = 1,200
TR ETR R B L F R % 18,000
MBE R T TR R D ==X 6,000




